1983




1983

(1993 )



1976

1976

1972

1976



< <



1.1

1.2

" (breadth)
" (depth)

(frontal projected area)

" (height of building)

50

50



3.1 3.3 3.4

1A

3.2 z

3.3

1B

3.4

3.5

25

1A

Zp

1A

(1)

1B



4.1

1A

qz

q
(kPa)
0-10 1.2
10-30 2.2
30-50 2.5
50-100 3.0
100-150 3.5
150-200 3.8
200-250 4.1
250 4.3
1B
q
(kPa)
0-30 1.2
30-50 1.9
50-100 2.4
100-150 3.0
150-200 3.4
200-250 3.7
250-300 4.0
300 4.3
F = szquz...
z 3

(2)



4.2

5.1

5.2

6.1

6.2

.(3)



Vi=40.44a e (B)

q 3 (kPa)

1.5



400

Al.

Al

10

A2.

Al

0.1h

400



48

kg = _7§h'( k 0, ky=0 ki 1,ky=1)
ko= 3%%;%92 ( kg 0, kp=0 ko 1, kg=1)
G
Z, —
G = kg kg h:
AC A2

G = kg(kgihy + kgahy + koshy +...)

S
4"
gz—?ﬁ( ky 0,ks=0 kg lks=1)

tan6 —0.3

kKor= ———— koo Okg=0 ko Lke=1)
tan6_ —0.3

kg = 12—7 ( kpp 0.kgp=0 ke Lkg=1)

400

A2




A3.

100

A2

100



B1.
Bl.1
(a)
(b)
B1.2
B1.3
B2.
B2.1
(a)

(b)

Bl B2
CS
3
Cy
Bl.1
R
B4
3

Ch
\Y% 2
500
B3
Ce —
\Y% 2



B1

0.95
1.0
1.05

1
1

.1

2

.0

1

1.0
2.0
4.0

6.0
10.0

B2

0N — on <t

O O o =

0.75

0.5
4.0
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1.00
0.97
0.96
0.92
0.89
0.86
0.84
0.80

SN0~ O O 0O

O o o — ——— ]

500
15000

500
800

1 000
3000
5000
8 000
10 000
15000

B3
B4

—
S — AN N < o O
SO OO OO OO —
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C1.

C2.

(a)

(b)

(a) 2.0

(b)

Cl
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C1

Cp
(a) 1.4 +1.0
(b) 1.0 +1.0
(a) 2.2
(b) -1.2
10° 30° 60°
() 2.2 -1.7 -1.0
Eb)) -1.4 -1.3 -1.0
C
(i) -1.4 1.2 +0.3 +1.0
(ii) -0.8 -0.7 -0.8
(iii) 1.0 -1.0 -1.0
(
1.
2.
3. 0.25
4. 0.15
5. 0.15
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